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Name

Score

1)

u  =  (2x – 50)0m v  =  (x + 25)0m

x  =

;

2)

8 9

1580

8  =  (x – 52)0m 9  =  (x)0m

x  =

;

3)

p  =  (x – 32)0m q  =  900m

x  =

;

4)

1  =  380m 2  =  (2x)0m

x  =

;

5)

c  =  270m d  =  520m

x  =

;

6)

6  =  (x + 10)0m 7  =  (x – 50)0m

x  =

;
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67

Find the value of x.
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Name

Score

Answer key

1)

u  =  (2x – 50)0m v  =  (x + 25)0m

x  =

;

2)

8 9

1580

8  =  (x – 52)0m 9  =  (x)0m

x  =

;

3)

p  =  (x – 32)0m q  =  900m

x  =

;

4)

1  =  380m 2  =  (2x)0m

x  =

;

5)

c  =  270m d  =  520m

x  =

75

122

3

;

6)

6  =  (x + 10)0m 7  =  (x – 50)0m

x  =

105

19

110

;

v u
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67

Find the value of x.


